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He found a fly by her; he found a hair by her — ;7% Xx» X%° 775 X3 2127

OVERVIEW

There is a dispute (between 1n°aX "1 and 1011 "), what was the transgression of the
w375 which caused the ensuing furor. Mo0In explains the source of the dispute and
why they did not agree to the literal meaning of W5 %% nan.
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They interpreted 77270Y as an expression of N1t and as an expression of food.

mooIn asks:
= WNN M NN RIT 10N 9NN ON)

And if you will say; and how do know that it was not actual mr (instead of
merely a 23p» M2 X1 [and certainly not a 77¥p2 1137]) —

N190IN answers:
= NP NDMTI NIINND NN HNIN 13939 99N

And the 1''1 explained, since he wanted to take back this w275 as is evident in

the 2°?0D, this proves that she was not 7117 -
= DNIT NN PINNY DI9T NPN NY DIVIDID 1I99NT

For it was not customary to take back even 2°wx%°p after they were ;7212 -

SV MIMMYN I 0 1Y NNIE NIPAM 525031 TPaN YWIY HN N3 *avNna79
As it is written; ‘come to the 2>ws%s of your father, and it is written that these
w20 were tied up as live widows until the day they died.

SUMMARY
711 has the connotation of both (relating to) M1t and food. There was no real N
because people would not take back 2°wx7° who were mima.

THINKING IT OVER
Is m1oIN question only on N1 ' or on N°2AX " as well?

!'1n11° '3 understood the word 73im in a literal sense of M7, and therefore he interpreted it to mean that he found a
2IPn NMRA ®1°1 which has some correlation to niar.

2 9mar " interpreted 73rM to be connected to food, therefore in his opinion she was guilty of allowing a fly in his
plate. See previous 10" 7"7 0.

3 See 3,0° oW after 7arm the P00 reads: [A2°wiR] 122wA> 729 DY 9277 AR 797 AWK ap.

42,10 2 HRMW. This was the advice of ?21°mX to D>WaK that he should be mam with 2wa2s of 717 (his father).

33,0 2 9Xmw. After their affair with 21waR his son, 717 had no more relations with them (even though they were
101R3, see 1"R # 210).
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